Integer Addition & Subtraction

(—4) + (+9) + (=2) — (=5) 2. (+4)+(-5) - (+7) + (=2)

(=6) + (-5) — (-9) - (-12) 4. (-1)-(-6) - (+3) + (-10)

40 — (~10) + (+30) — (+20) — (~10) 6.  (=2)—(=4) + (=5) + (+3) = (-1)
(=8) + (-4) — (+10) — 1 8. 4+ (=12) + 10 + (—6) — (+4) — (-8)

At 3:00 AM the temperature outside was -5 °C. The temperature dropped 2 °C each
hour until 7:00 AM. The temperature then rose 7 °C. What is the current temperature?

Answers — In No Particular Order

10 1 8 -8 -6 -23 70 0 -10




